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For this question, choose ONE of the thinking skills from the
Appendix (nov1) on page 16 OR any thinking skill studied in class.
Use this thinking skill when answering the question. (10 points for the
content of the answer, 5 points for the correct use of the thinking skill)

In the first half of the story, the narrator says clearly how he feels about
Mr. Kelada. How does this relate to the narrator's statement about Mr.
Kelada at the end of the story? Give information from the story to

Thinking sKill I ChOSE: ....cccviiiiiiieiiieieeeeeeee e

" (15 points)

During the discussion at the dinner table, Mr. Kelada looked at the
pearls closely and smiled. "He was about to speak. Suddenly he

caught sight of Mrs. Ramsay's face... You could almost see the

effort he was making over himself." What could be the results of

the moral conflict Mr. Kelada is facing?

(7 points)

After the discussion about the pearls, "... Mrs. Ramsay retired

to her stateroom with a headache." What is Mrs. Ramsay's

attitude towards Mr. Kelada at the end of the story?

Give information from the story to support your answer.

o ( 5 pomts)

/4 Tmyaqwnn/

y4

M

e

N

=

D

Q

)

~

G

£ 5

< 2

—“ [}

3 g

w 5

= S

Q >

b k=

~ 2.

- =y

o 2

o) < e

O

< < .

N )

M|

D

Q

C

AT IS AN A TN AN AT I AN T IS AN ST I AN <IN AN A S I AN A I I AN A S I AN AT I 2N 4T
= SN RO WA N AR SN T I A ST ARSI INARORENT At AR Da e SN A SN TI A
N S BN = ekl NIRRT DTN DS PN St N
LNWSINNMMA (N CU LT TNLLL LU ARSI ESRANSTE 2N ON S s ik Nnet s ARG SV NN ST ED
PONNNANY AL S o P ANANANT PN NNNNTY LA ANNANT L D T e s e e L AENNANT LU N AN\
=0 S\ N\ N/~ | I/I\r‘/\\s s\ % N I/I\r‘/\\s I/I\r‘/\\ N =N I/I\r‘/\\s -~ N/~ | s\
SIS /N ARSI LINSN S 2 LS SNSRI N AR 7L NS0 LS\ SN S LSS/ S/ALSY,
FEARK S SIAARKSSIAN SRR IR ARSI ARNKS SISAN
NN DI NI LNTNINT, NN NI N S N NN NI NS N N7 NN NN,
/’ ) Z= /’ ) Z= /\ /’ PUS /\ /’ ) = /\ /’ ) = s /’ = /\ /' /. — /\ /’ /\ /’ .,
IDISNASTIN A ST M AST ST IS STID NG ST I DA ST I SO ST I DA ST M =S A 5T




Ty T am NV, N ) T Ham NV, N ) e NV, N ) e NV N )
MO P AN B R Y AN B > i G AN B G AN B G AN B G AN RS N G AN RS N GV AN RN G '~ e /N l”\“\\\/ \NTO \\/—
B e O A O A O O O A ATk
- I =Ny U ZASA R A L ZASAR R A LA SAR R A LA SR A LA AR SR AT AR N AL ZASA SRR R R IR YRR
Lo NS &= I\'/\/, N W= \ S & /Il'\‘ I/ S L I/ I/I/ L I/I/ XA ///II //‘\///II ///‘\///I PN NN A\ PSRN /l\'/\ \

WA TS WA TS WS N TS WA TSN U NS S P NNSES S UANNSES SV ANNSES S LAV S NV ASS Y SNV ALS ISV ANSS Y S
S o PN NS o PN NS o8 AN NS I NG I SINVNSS I SN NG 1SN N7 SN ANGT 1SN NG 1S M ANZT 1SN S R VAA DTN TAL)
l\—\lzl\\\/\—\lzl\\\ll\— lzl\\\/l\—\l AN s—\l LN P DL\ S P27 NN P o f LSS o f NN P f VLN S P f S £ ; \/ll\/\
A L ANLY 7T AN XY s\\/‘z\rl\ s\/\l/‘l\ll\ \/\//‘I\/ 7. \/\// NI XA ST VA TS W TN A0 TN S ar i\ \I\/\l//llll/ I\/I//Il NS
SN ORIC SN Dl S AN A S SIS DTSSR SIASY NI AN IR ZAT)
POV [ nor ) e ooy DA OIEIPTACKENPIACIEWBIAC (N (CULT TNILL (U IPVASKIISAatgY

/ ~, \Q\ AN/ ~, \Q \~7/ N\ I.l’r’\ . I.l’r’\ SV ~ — v ~ J‘A\—- l/x’r/\f-/\/x”r/\
‘l— ~ . l- . ) . —- —- —-/\ =, /—-/\ N2 el INVASZSS, = ANV S S =NV QGSZS, = NV |—|
/—- V4 ||/— V4 — N S, — N = INVQOSZSS, = ANV S |—|/ LS 1= 1=\ | | | >

DEXAW A \'51\ DECAW A .\'51\ DECAW A .\'51\ DECAW A .\'51\ DECAW A .\'51\ IS NINTL 2=y 20X NINTLI 2=y 20X NINTU 2=y 02 NINTU 2y 0 ANINTUL 2=y 00 NI NTUL 2=y 0 NI NTU =3 7 4

(5 points)
(5 points)
(10 points)

(N3N TINYa 10-9 MONY 25 DY)
/5 Tmya qwnin/

o :
= :
gz
< o = :
[a¥ me :
.m’ SAW,. :
o) 3z :
<= B H
) 2 = :
S z - . H
S E 5 2 m
m o < m
=B S 4= @ H
S Q = o :
' f 5 = > s :
=] =) 5o g :
N 5 < = O O = :
' > e g > 5 8 :
X =) «m . o 2 9 :
9 3 EE 3 £ £ 65 g i
2 o S ) kS - B B o :
% @ 2 e 2 % & < s 8 & 5 £ <€
3 o § o o 9 o A S = & S -
R 2 .8 = g = 3 ” < 2 S > o :
£ 55 = S o 2 0 g &2 = mbm :
g =& 3 = 3 § 25735 T s
a R 2 3 5 £ 8 £ 8 8 ¥ o g 2 g8 = :
g 5 © = o B s 5 85 9o ¢ 7 o :
= = o 2 S £ £ § 5 = zZ O L = g i
G Rh = 4 o N o L = :
Y = > O g2 @ ,er » e 2 :
I = 5 £ = o o > S g & £ 0 :
c o 3 g = &2 8 5 L2 2 2 - :
& 2 S 9o o S = 2 g g 5 o
< xoe Q n 9 O w g S O wu :
a ¥ < 5 S S 2 7z g £ 2 = :
D ROOP Ca”.vvae L v S g s £ 0 :
A oA M.VaDV mmnsg Pmp
= T, 1 88 s & 5 § @ & g S s g
B . S - .
Q ©O8 2 - 9% B B o 5 & 8 £ B 2 T
D = £ WtVloom meeee MMME
~ = 3 A 3 | = & 2 o & - T = s § € 3
- — B = o = HVJ“S
9 52 2 3 = 3 3 s ~ 2o Z % e 9 £ Z
= MwA%@@n@ﬁ < & & & & m € § <
N [72]
2 == . . <
< = < © ~
N
p .
D M .
g d =




For this question, choose ONE of the thinking skills from the Appendix

(novy) on page 16 OR any thinking skill studied in class. Use this

thinking skill when answering the question. (10 points for the content of

the answer, 5 points for the correct use of the thinking skill)

After Dave tells Pa about his punishment, Pa says, " A bullet will go in

a professor same as it will any man. It will go in a rich man same as

it will a poor man." Why does Pa react to Dave's punishment in this

way? Give information from the story to support your answer.

Thinking sKill I chOS€: ......cocuiiviiiiiiiiiiiiiieee e

(15 points)
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14. What is the conflict between the Deever and Keller families in the play?

(10 points)

15. For this question, choose ONE of the thinking skills from the Appendix

(novy) on page 16 OR any thinking skill studied in class. Use this

thinking skill when answering the question. (10 points for the content of

Each female character in the play has an important role. Choose ONE of

the following characters and discuss her role: Kate, Ann, Sue. Give

Thinking sKill I ChOSe: ......coouieiiieiiiiieiiieeeeeeeeeeeeee e

(15 points)
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(8 points)

How does the phone call from George at the end of Act I influence
(7 points)
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Keller's behavior towards Chris? Give information from the play to

support your answer.

At the end of Act I, Kate says, "Be smart now, Joe. The boy is

coming. Be smart." What can we infer from this quote? Give

information from the play to support your answer.

a.
b.
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(10 points)
(15 points)
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"... if you study the types of people who join these cults, they're

almost always people who are unhappy with themselves and their

lives." Relate this quote to either Amy or Robert.
had grown up in the small, suburban community that spread out...

around Gordon High... they were surprisingly naive and sheltered."

thinking skill when answering the question. (10 points for the content
At the beginning of the story, we learn that "Most of these students
How do the students change throughout The Wave experiment? Give
Thinking sKill T ChOSE: ......coouiiiiiiiiiiiieieeeeteeeee e

(novy) on page 16 OR any thinking skill studied in class. Use this
of the answer, 5 points for the correct use of the thinking skill)

20. Laurie's mother says when talking to her daughter about The Wave,
information from the novel to support your answer.

21. For this question, choose ONE of the thinking skills from the Appendix

DAL +416,016117’01 ,0”YWN 99N, MO0, 1ONN
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22,

OR:

Compare and contrast the roles of The Grapevine and The Wave in the
novel.

ANSWER: ..o

(7 points)
Why do you think that the special edition of The Grapevine has such a
strong effect on the students in the school?

ANSWER: Lo

(8 points)
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PART III (20 points)
Answer the question for either (23) A Summer's Reading OR (24) The Road Not Taken.

Make a connection between the above quote and the story. Give information
"Take a chance! All life is a chance. The man who goes the furthest is
generally the one who is willing to do and dare. The 'sure thing' boat never
Make a connection between the above quote and the poem. Give information

the world. Plus, reading can show teens that everyone has problems in his
— quoted from "Benefits of Reading as a Teen" by Peggy Gisler and Marge

or her life and may even help teens see solutions to their own problems."
Eberts, Family Education, 2014

"Reading as a teenager leads to success. The more teens read, the more
information they pick up... Besides helping teens do well in school, reading
also helps them expand their horizons as they learn more about people and

A SUMMER'S READING / Bernard Malamud
THE ROAD NOT TAKEN / Robert Frost
gets far from shore." — Dale Carnegie, American writer

NOoD) +416,016117 01 ,0”YWN 9NN ,1NI9D JPIIN
from the story to support your answer.
from the poem to support your answer.

Suggested length: 80-100 words.

23.
OR
24.
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Use this page and the next (pages 13-14) for writing a rough draft.
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Write your final version here:
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APPENDIX TO PARTS I and II
Thinking Skills

e Comparing and contrasting

o Distinguishing different perspectives
o Explaining cause and effect

e Problem solving

e Inferring

o Explaining patterns
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